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# true ;; #2 =3 ;;

- : bool = true - : bool = false

# false ;; #2+3 =5,

- : bool = false - : bool = true

# 2 <3 ;; # 2.71 >= 3.14 ;;

- : bool = true - : bool = false

#2 >3 ;; # "hello" < "world" ;;
- : bool = false - : bool = true
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# if 2 < 3 then "a" else "b" ;;
- : string = "a"
# let abs_value x = if x > 0.0 then x
else -. x ;;
val abs_value : float -> float = <fun>
# abs_value 3.14 ;;
- : float = 3.14
# abs_value (-0.5) ;;
- : float = 0.5



X (if 30

if %%FF'then.Et1 else ™ 5
SEERDY true ICE>Te B, DfE%Z. false [CE -
e, DEZRT,

# if 2 < 3 then "a" else "b" ;;
- : string = "a"
# let abs_value x = if x > 0.0 then x
else -. x ;;
val abs_value : float -> float = <fun>
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(x chocolate : int -> int %)

let chocolate x = 0
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let testl = chocolate 100 = 0
let test2 = chocolate 252 = 2
let test3 = chocolate 500 = 3
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(x chocolate : int -> int %)

let chocolate x = x / 126
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# #use '"chocolate.ml" ;;
val chocolate : int -> int = <fun>
val testl : bool = true
val test2 : bool true
val test3 : bool true
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